i6A:SELEX (1-5)

aggat

ACCACCGTGACCCCACAGCG

aggat

ACCACGGTGACCCCATTCCG

aggat

aggat
aggat
aggat
aggat
aCgat
LO.aggat
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aggat

AGTACCACGGTGACCCCCCT
ATACCACCGTGGCACCACCG
ATAGGGCCACGGTGGCCCTA
ATGTACCACCGTGACCCCAC
CACACCCTTATTGACCGCCT
GACCCCACGGTGATACCACG
GGGGCCACCGTGGACCCATG
GTGGGGTCACGGTGGCACTA

16G: (SELEX 4)

L. aggat

ACCACCGTGGTACTACTACA

aggat
aggat

aggat
aggat
aggat
aggat

aggat
aggat
aggat
aggat

aggat

aggat
aggat

aggat

aghAat
aggat
6I: (SELEX 9)
aggat
aggat
aggat GACCCCACCGTGGAACCACCC ttgca(2)
aggat GACCCCACGGTGATACCACG ttgcal(7)
6L: (SELEX 7)
aggat AATACCACGGTGGTATTACT ttgca
Gggat ATACCACCGTGGTACCACCG tGgTa
agTat ATACCACCGTGGCACCACCG tGgTa
6M: (SELEX 5)

aggat

aAgat
aggat
agTat
6Q: (SELEX 7)
aggat

aggat
Gggat

AGCACCACCGTGGTACTACA
ATAATACCACGGTGGCCCCA
ATACCACCGTGGCACCACCG
ATACCACCGTGGTACCACCG

ATACCACCGTGGCACCACCG
ATACCACCGTGGTACCACCG

AATACCACGGTGGTATTACTT
AATACCACGGTGGTATTATG
AATATCACGGTGGTATTAGT
ATAATACCACCGTGGTATTA
ATATCACGGTGGTATGATGA
CATATCACCGTGGTATTATG
GTAATACCACCGTGGTATCA
GTCATACCACGGTGGTATTA
GTCTTGGGCGTGGTCTAATT

6N: (SELEX 4)

AGATGCGCCCCGAGTCTTCT
ATACCACCGTGGCACCACCG
ATACCACCGTGGTACCACCG
ATACCGCCGTGGTACCACCG

AGACCACCGTGATACTAGTG
AGGACCACCGTGATATACAG
AGTAGCACGGTGGTATACAC
ATACCACCGTGGCACCACCG
ATACCACCGTGGTACCACT

CACGGTGGTATGATGAGCGT

aCTat
aggat
aggat
0.aggat
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AGGGCCACCGTGATACCTT
GACCACCACGGTGATACCACG
GGTATCACCGTGGTATATGT
GGTATCACCGTGGTGCATAA

ttgca
ttgca
ttgca
tGgca
ttgca
ttgca
ttgca
ttgca (2)
ttgca
ttgca

ttgca
ttgca
ttgca
tGgca (14)
tGgca

tGgca (6)
tGgca

(3)
(3)

ttgca
ttgca(3)
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca

ttgca

tGgca (2)
tGgca
tGgca

ttgca
ttgca
ttgca
tGgca
Gtgca
ttgca
ttgca
ttgca
ttgca
ttgca

H6R: (SELEX 4)

Gggat
aggat
aggat
agCat

aggat
aggat
aggat
aggat

AATTGGCACCAATGTGACAG
ATGGCTCTGGTGTGGTACCA
CGCGCCACCGTGGCTACGCA
GAGCCATATTGGTGCTTATG
GATGCCATGGTGACGCCGGA
GATGTCAATTTGGCTCTGCT
GGTTTTGTGGGGGCGGTGTCA
GTAGTGCATGCGTGGTACCA
GTCACAGTGGCGCACAAATG

1
2
3
4.
5. aggat
6
7
8
9.
1

0.aggat

TGCGGGGCCACGGTGACTCT

H6S: (SELEX 4)

1. aggat
2. aggat
3. aggat

ATACCACCGTGGCACCACCG
GGGGCCACCGTGGACCCATG
GGGGCCACCGTGGACCCATT

H6T: (SELEX 4)

aggat
aggat
aggat
aggat
aggat

aggat
aggat

N m»btuk)H

GACCCCACCGTGGAACCACA
GGGGCCACCGTGGACCCATG
GGGGCCACCGTGGTACCCATG
GGGGCCACCGTGCACCCATG
ATACCACCGTGGCACCACCG

6V (SELEX 4)

ATACCACCGTGGCACCACCG
GACCCCACGGTGATACCACG

Mnt: (SELEX 3 and 7)

aggat
aggat
aTgat
aggaG
aggat
aggat
aggat
aggat
agCat
10 aggat
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AATGATGCTTGCCCAGCGAC
AGGGCCACCGTGGACCCATT
ATAGGGCCACCGTGGCCCCA
CCAGTTGTCCGCAGTCCGA
CGGAGATGACGGCCTTGGCT
GACCCCACGGTGATACCACG
GCCCCGACCAATCATTTGAC
GGGGCCACCGTGGACCCATG
GGGGCCACCGTGGACCCATT
GGTATGGATTGGTGTCCACGC

Mnt78: (SELEX 3)

aggat
GAgGt

ATAGGGCCACGGTGGCCCTA
CCACCGTGGCCCTACTACTA

aggat
aggat
Tggat

TAgat
agAat
Gggat
aggat
aggat
aggat
aggat
aggat
GAgat
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CGGGGGAATTGTCCGGTTAT
GGGGCCACCGTGGACCCATG
GGGTCCACCGTGGACCCATG

nt79 (SELEX 3)

AGGGCCACCGTGGACCCATT
AGGGCCACGGTGGACCCACC
ATAGGGCCACCGTGGCCCCA
GAGTTGGCCCGGGATGACGT
GGGGCCACCGTGGACCCATG
GGTCCACGGTGGACCCTACG
TGTGGACCACGGTGGCCCCA
TTAGGGCCACGGTGGCCCTG
TTGAGGAGGACGGGGTGGTC

ttgca
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca

(4)
(11)

tGgca
ttgca
ttgca

ttgca
ttgca
ttgca(3)
ttgca
tGgca (3)

(9)
(7)

tGgca
ttgca

ttgca
ttgca(3)
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca(11)
ttgha
ttgca

ttgca
ttgca
ttgca
ttgca
ttgca

ttgha
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca
ttgca




